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GUIDED SOLUTIONS TO ACCOUNTING 2013 SESSION
1. Determination of the accounting mathematic value of partially realized shares of company

A?
Using the formular based on the accounting net assets
= capital = 8 000 000
+ Reserves = 5200 000
-Deferred Charges = 400 000
Total = 12 600 000
No of shares = 800
Mathematic value = 16,000F
= B = 16000frs = C
2. Determination of the accounting mathematic value of Company B %
= capital © » = 4000000 SRy
+ Reserves = 2400000
-Deferred Charges = 800 000
Total = 5 600 000
No of shares = 800
Mathematic value = 28,000F

3. Calculation of the intrinsic mathematic value of
- Capital + Reserves — Differed Charges =
- 8000 000+ 52 00000 —400000+1200
- No of shares = 800 Vs
- Intrinsic Mathematic value = 16 900fs

4. Determination of the intrinsic
Capital + Reserves — Diffeggﬁ
4 00 000 + 2 400 00 -800 00
No of shares = 200

Intrinsic Mathem

the enterprise

Tumover tax 1500 000frs |
Variabl 500 000 — 3 600 000 =9 000 000 .
Contribu 5in =1 500 00 — 900 000 = 6 000 000frs 3 p 3 5

Fixed Cost =

43 600 000frs g | 6 o !
Contribution margin ratio = |

6000000 _ 100 _°
—_——x —=04
1500 000x = 1

BEP zFixed Cost 15 3 600 000 — 9000000 = A
CMR 0.4

6. Determination of BEP Date : ' ' |

g BEP X 365 9 000 000 x 365
BEP date = = = 219days
Turnover 15 000 000

Which approximately 7 August 2013 =D .
7. Calculation of the safety margin in number of months of sales for the year

Safety margin = Turnover — BEP
SM = 15 000 000 — 9 000 000 = 6 000 000

v _ 6000000 e
SM = inrespect to months = = 555 (06 % 12 = 48months A
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8. Determination of operating result when turnover i mncrease by 10%
“urnover = 15 000 000 x 1.1 = 16 500 000
‘J:naole cost = 9 000 000
Contribution Margin - 7 500 000
Fixed Cost = 3 600 000
Operation Result = 3 900 000 C
9. Determination of the contribution margin
Tumover = 16 500 000
Operating result = 2200 000
Total expenses = 5 500 000 B

10. The amount of fixed cost is 6,600,000 B
[ Elements Number Unit Price
MV1 600 25000
Cash sharés 2500 14000
Bonus shreas 1000 0
MV2 6500 21765 |.
11. Determination of the Maximum issuc premium per share
MAX IP =MVI - NV {
Max IP = 2500 — 10000 wg
Max IP = 15000FRS A y =,
I2. Calculation of subscription right per share i@ﬂ LY
(MV2—E)Ni % >
SR === A4 5
5p = QTR 8835’” gy

N6000
SR = 2280 8333

B

0.41667 x 180 = 75shares +i
= 0.1667 x 180 = 30shares
(140 — 60) — 75 = 5 shares =

Reducible attribution = 60 — 30 = 30 shares

Subscriptior%ight bought over == l—j—'N— = %
= He has to buy 12SR
Value of subscription right = 27340frs
Value of attribution right = 180 x (19—476%2
VAR = 584 220 FRS

% Issue Premium = N’(E -NV)

‘P = 80(1400 — 10000) = 320000fts
Amount of capital paid = 80 x 10 000 = 80 000fs
'“n*aE "mount spent = SR + AR + IP + Capital
" 27370 + 584220 + 320000 + 800 000 = 1731590fs A
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14. Determination of attribution right attributed to each shareholder

Element Quantity |  UP AMOUNT
MV1 6000 25000 150 000 000
Cash Share 2500 14000 35 000 000
MV2 ' 8500 21765 185 000 000
Bonus Shares 1000 0 0
MV3 ‘ 9500 19474 185 000 000

AR =MV2 -MV3
AR =21765=19474

AR = 2291frs A
15, .
16.B / %

17. Nominal Value = 3500frs, Reimbursement Premium fmAortization =

4541730, Fourth Amortization = 5 908 684frs

- AW4=Al1(1+1n*
- 4541730 (1 +1)> =5 908684~

CFi == 5908684
4541730

(1+1)* == 1.3009765
(1+1) = ¥1.3009765
3 - r=1.0916 -1

r=9.17% A
18. '
19, )
20. Determination of the e g the least-square method
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